DRVL %3
™A R AMEENE S EM IR Raf

Z£72:10.02 Nm ~ 20,000 Nm

- JEEACROHER /S S1%5H, RER, R4
- NEESHAS:E

- AR

- N FSEREI

- SNEY/ TG

- BEpifiE/

- BRIR B E (A1)

- NN R

- RS AIK0.05% L MR E (RTi%)

- EEAVHESEE (10 - 28.8 VDC)

- BENEEZRRM (EMC)

- HI%B(E S LABE (0 £ 10Vdc) MEHE (10 kHz =+ 5 kHz) &t
- AlIE— AT R EE

- AEROE B REHI RS AR S R

20223fr3Eik 5 : — AT EE 20228 : LS R E IR EEC S B

-REEREN S RERMMEMEFL, BETHRIEN -“BRAERIN R LS

——RIER, KAEM, BEREREERE -MEREEREFAMEMETL, BETHRREN
——RER, RAELL, BRRRME, HEGRS
B9 ED

DRVLAFIHEE RESEEE/ NG IMZM RENRE AT, ERTEMLEEN T AN Ao
RN ES XA ERMIEE S, BERERE N (RER. R4:3PERIET .

BEFNTRNFIENEHE, AESSHASEH 10 - 28.8 VDCHE, HiaHo = 10 V1 10 kHz
+ 5 kHz RV SRR S S . DRVLAFIHHAE 2 R 250 ATR (A5 AN EL A I &1,

DRVL RFIH L RS EECE N TTRE 4, #7025 BA B /AEN, & P IR ahER—FIUR
FEBL 0 B E Hll YIS ACSZ E o

IR MR AR RE o

www.torchi.com.cn sales@torchi. com. cn

E ’ H messtechnik
<

210]

S00¢2 @

152) 11104 .10/ Appa.t
-

WL

GLSEL6YS L2 9800 -I°L



E ’ H messtechnik
<

™
]

since 2005

ready for your test

Tc

Tel: 0086 21 54973515

DRVL iR &k

www.torchi.com.cn

sales@torchi. com. cn

£ EAE (Supply voltage) :

10-28.8VDC

HEFE (Power consumption) :

180 mA@12Vdc (£ 2.2 W)

LF3REGE] 10-90 % (Rise time 10-90 %) :

2ms (A3 400 ps)

i IE$7= -3 dB (Limit frequency -3 dB):

200 Hz (R 1 kHz)

BaEa BT ESTh
HxE(= S5t (Signal output): ox1ov 10 kHz £ 5 kHz (RS422)
5332 (Resolution) : 16 bit 2 0.38 mV 16 bit 2 0.19 mHz
BAMHSER (Max. output range) : +11v + 6.3KHz
RIERRE4T (Internal resistance) : 100 Q _
20K (Ripple) : <100 mVss _
e /R E (RETE)

Nonlinearity/max. measurement error (of full scale)

DRVL: 0.15% (i 0.1 %) 0.15% (FJi% 0.1 %)
DRVL-I to DRVL-VI: 0.1% (AJ3% 0.05 %) 0.1% (®I3% 0.05 %)
S (Hysteresis) 0.1% 0.1%

ZEH{RE (Deviation at zero point): <50 mV < 50 Hz
SBEFMESEE] (Compensated temperature range) : 0-60°C

iB1TBE (Operating temperature) : 5-45°C

SBEERNE (Temperature error)

Z 5 {®15 (Zero point): 0.02% /K

THETERIE (Sensitivity) : 0.01%/K

22 (Mechanical overload): 100 %

BE#PZ4R (Internal protection): IP40

S (Connection) : 12:5HEE

1E5IIRH (Interference emission)

E iR (Basic standard) $7E3EEl (Frequency range)

EN55011 B3PR{E (EN55011 Limit class B) 150 kHz - 6 GHz

IRHEUEE (Immunity to interference)

EZst7 4 (Basic standard) MIRER waAn MitLER
EN61000-4-2:2009 &% B3 BB SRR IR T8 (ESD) 4KV HiEmeE A
EN61000-4-2:2009 &K EBENRRE XIS (ESD) 4 kV [Bl3E R ER A
EN61000-4-3:2009 ST4AER AR AT BURE IR 10 10V/m [EHERLER A
EN61000-4-4:2009 Bk AHEEBURE R IE 2 kV [EI3E R ER A
EN61000-4-5:2005 ;RFSUREALE 1kv BEEME B
EN61000-4-6:2009 STHARER % S B BURIRIE 10V/m [BHERLER A
EN61000-4-8:2005 T3fif4iAHSNRE {1 30A/m [Bl3E R ER A

A: R HRIEIHIRE < 0.3 % (HEFR)
B: Mt AL IRE > 0.3 % (HEE)

e MREm (4%-n)

HANRER (E5%-w)

REEE (Maxrev.): 37.000 min** 20.000 min**

it (Output) : TTLEE 5V <U<24V mJiAEFE

PFE#T (Impedance): 220 220

AR (Imax:) 20 mA 20 mA

Bkod/# (Pulses/rev.) : 60 2x360

43342 (Resolution) : -- 1°

#M1ZE (Phase shift): -- ANE5SBHERZ90° 1B E

*ZEERAT< 10 m HETHIXBLY, RSEERERFSEZINES




DRVL 9MERST

www.torc

hi.com.cn

E ’ H messtechnik
<

sales@torchi. com. cn

Al
|
e s
Lo
- - - ! z R &
—o-- ! -0
L 0 /s mond
L1 L2
= P M2
L3 (optional) (on both sides) p {
I o =
i —
T —
T
BN
L4 B1
B
DRVL DRVL-I DRVL-1b DRVL-1 | DRVL-1 11 DRVL-1V DRVL-V DRVL-VI
0.02 0.05 2 1 5 50 500 2000 10, 000
miEEe 0.05 0.1 2 10 100 1000 3000 15, 000
Ranges 0.1 0.2 5 20 150 1300 4000 20, 000
3 0= 000 L) 0.5 10 30 200 1500 5000
1 50 300
Rst: (R EHIH AL IEAREFZ: NZEHE DIN 2768-m)
L (mm) 82 89 95 110 145 170 270 320 355
B (mm) 32 28 36 42 56 88 105 168
BT (mm) 24 (= LK (= LK) (= LK) (= LK) (= LK) (= LK) -
H  (mm) 47 54 58 58 73 104 121 185
H1  (mm) 14 14 18 21 28 44 52.5 84
H2  (mm) 22 (= LK (= LK (= LK) (= LK) (= LK) (= LK) -
@ D1 g6 (mm) 3 8 8 10 15 26 45 70 110
@ D2 g6 (mm) 3 5 6 10 15 26 45 70 110
@ D3-0.1 (mm) 15 27 32 38 54 80 - -
@ LKX0.1 (mm) (= B1/H2) 32 38 46 65 98 - —
L1 63 62 68 79 72 84 95 121
L2 7.5 1" 14 18 30 45 85 110 115
L3 7.5 10 14 18 30 45 85 110 115
L4 67 66 72 83 78 90 = ==
A1 50 40 56 60 42 46 75 91
A2 24 22 24 32 40 70 85 138
M1 M2.5 x 5 deeg M3 x 5 deep | M3 x 6 deep | M3 x 6 deep | M4 x 8 deep | M6 x 12 deep|M8 x 16 deep[M10 x 16 deep
M2 M2.5 x 5 deeg M3 x 6 deep | M3 x 6 deep | M3 x 6 deep | M4 x 8 deep | M6 x 12 deep — —
P(DIN 6885) ##i£IN - - 2x A3x3x14 | 2x A5x5x25 | 2x A8x7x40 | 4x A14x9x80 [4x A20x12x100 -
ABEE (2) 200 170 340 600 1, 300 4,500 11, 500 33,000
REFEE (min™) 20, 000 37,000 26, 000 19, 000 13,500 7,900 6, 300 4,000

510

152) 11104 .10f

GLSEL6YS L2 9800 ‘I°L

500z 2ouls

PDa.L

WL



www.torchi.com.cn

sales@torchi. com. cn

E ’ H messtechnik
<

o EERME (R
= RN GEI
= 2FF (Nm)
= BE/HE

DRVL AR #H%
RS HIERIE | MRS C HEEIEE J (g cm) FEimEf | ERE R
(£0-...Nm) | (Nm/rad) B IR SR i (N) * (N) *
DRVL 0.02 8 7 7 0.1 35 30
0.05 8 7 7 0.1 35 30
0.10 8 7 7 0.1 35 30
DRVL-| 0.05 25 10 10 0.2 105 2
0.1 40 10 10 0.2 140 3
0.2 40 10 10 0.2 140 3
0.5 80 10 10 0.3 160 4
1 80 10 10 0.3 210 7
2 213 10 10 0.4 210 13
DRVL-1b 1 250 29 24 5.5 630 10
2 250 29 24 5.5 630 10
5 710 29 24 5.6 725 25
10 1319 30 24 5.9 725 50
DRVL-11 5 955 98 65 32 1200 15
10 2115 98 66 32 1300 30
20 3955 99 66 32 1300 60
30 5335 100 67 33 1300 100
50 6700 103 68 34 1300 155
_5 DRVL-1 11 50 17 x 103 774 428 346 1800 125
F; 100 30 x 10° 782 432 350 1800 215
82 150 44 x 10° 796 439 357 1800 340
O 200 54 x 10° 809 446 364 1800 450
|—§ 300 66 x 10° 837 459 377 1800 650
h DRVL- 1V 500 259 x 10° 9930 5290 4640 4150 650
1000 387 x 10° 10, 140 5395 4745 4150 1275
1300 429 x 10° 10, 280 5465 4815 4150 1650
1500 449 x 10° 10, 380 5515 4865 4150 1700
DRVL-V 2000 1.43 x 10¢ | 63 x 10° 32, 560 30, 345 4800 1950
3000 1.82 x 106 | 64 x 10° 32, 860 30, 645 4800 2930
4000 2.09 x 10¢ | 64 x 10° 33,220 31,005 4800 3880
5000 2.27 x 106 | 65 x 10° 33,610 31,395 4800 4000
DRVL-VI 10,000 | 8.20 x 10¢ | 434 x 10° 221,570 213,150 11, 800 8895
15,000 | 10.44 x 10¢ | 442 x 10° 225, 430 217, 000 11, 800 9830
" 20,000 | 11.80 x 10° | 450 x 10° 229, 650 221, 230 11, 800 9830
% *E AR E AR EER TIEEENER
S RS =T B F
; I ——— HRHE: GIV2
© ® ®© ® ® ValueMaster,
o0 Ion = FTTEE 1 kHz GEBD B 4%
E K = 5E (GEDD
2 0 = FERE
1 = SEE GEDD
A o FRERE
n
W




www.torchi.com.cn sales@torchi. com. cn

E ’ H messtechnik
<

DRVL (—{#3UEEE) JMEERT

S2
10

.
L
il ——

1 | ;

S1

S3

Measuring
side mark

L3 "EEL‘ L2

p
/* (optional)
i

M
(on both sides)

D3
_ D2
- T

H1

H2

DRVL-1b  DRVL-II DRVL-111  DRVL-IV DRVL-V DRVL-VI .

e 0.02 0.05 | 2 1 5 50 500 2000 10, 000 §—|
faifzi& 0.05 0.1 2 10 100 1000 3000 15, 000 3_01
(£ 0-... Nm 0.1 0.2 5 20 150 1300 4000 20, 000 0

0.5 10 30 200 1500 5000 S

1 50 300 §—';
HAE (AT EHEbAEATEIE: AZEE1E DIN 2768-m) -
L (mm) 82 89 | 95 110 145 170 270 320 355
B (mm) 56 60 78 78 98 158 208 298
BT (mm) 32 28 36 42 56 88 105 168
B2 (mm) 24 (= LK) (= LK) (= LK) (= LK (= LK) (= LK) -
H (mm) 78 85 85 82 90 172 228.5 316
H1 (mm) 45 45 45 45 45 112 160 215
H2 (mm) 12 12 15 15 15 20 30 40
@ D1 g6 (mm) 3 8 8 10 15 26 45 70 110
@ D2 g6 (mm) 3 5 6 10 15 26 45 70 110
@ D3-0.1 (mm) 15 27 32 38 54 80 — —
@ LK£0.1 (mm) | (= B2/H3) 32 38 45 65 98 — — _
L1 63 62 68 79 72 84 95 121 o
L2 7.5 1 | 14 18 30 45 85 110 115 o
L3 7.5 10 | 14 18 30 45 85 110 115 2
L4 67 66 72 83 78 90 - — (%))
NTHS (mm) 6 6 8 8 10 10 10 10 n)
N2 (mm) 2.8 2.8 3.3 3.3 3.3 3.3 3.3 3.3 w1
N3 (mm) 50 50 60 60 60 60 80 100 @
St 5.5 5.5 6.6 6.6 9 11 13 17 >3
s2 50 50 50 65 55 65 70 90 Yl
s3 44 44 58 58 76 124 156 233 ul
@ 7E8 4 4 5 5 6 8 10 12
M M2.5 x 5 M3 x 6 M3 x 6 M3 x 6 M4 x 8 M6 x 12 — —
P(DIN 6885) 2% — — 2x A3x3x14 | 2x A5x5x25 | 2x ABx7x40 | 4x A14x9x80 |4x A20x12x100 —
KEER (o) 400 400 600 900 1,600 6, 600 15, 000 43, 000
BEEE min) 20, 000 37,000 26, 000 19, 000 13, 500 7,900 6,300 4,000




www.torchi.com.cn

sales@torchi. com. cn

E ’ H messtechnik
<

Rl P E B E Ao 52
R X R Y

—l 5
I
Tgn {1 :
7 —Messseite 7 Messseite
z &
& T o =
o~ z
z
- [ >t [ [ 7T |
- NI NI
‘O
F—é* B2 B2
2 % : [ |
> J+> l\lJr [ o l+
DQj/ _$_
ST of— o -
PNy &
A () K|
= DR DR DR o DR DR DR DR DR
LR X y X y X y X y X y X y X y X y
SH 23...55 >56[25. .. 60] =61(29.. 65| =66[32.. 67| >68|41. 84| >8567.. 119=120093. . 154|>155/152...211>212
LN R~F (mm)
s L 63 62 68 79 72 84 95 121
™M B 56 60 78 78 98 158 208 298
= H =SH-14 | =SH-14 | =SH-18 | =SH-21 | =SH-28 | =SH-44 |=SH-525| = SH - 84
= L1 50 50 50 65 55 65 70 90
- Y 44 44 58 58 76 124 156 233
N D1 5.5 5.5 6.6 6.6 9 11 13 17
¥e) L2 50 40 56 60 2 46 75 91
S B2 24 22 24 32 40 70 85 138
o % D2 2.9 3.4 3.4 3.4 4.5 6.6 9 11
3 ¢ D3 65 | —| 65 | —] 65 [ —| 65 [ —] 85 [—[ 115 -] 155 [—|185] —
= N1 _[H8] 6 6 8 8 10 10 10 10
N2 2.8 2.8 3.3 3.3 3.3 3.3 3.3 3.3
N3 50 50 60 60 60 60 80 100
@7 E8 4 4 5 5 6 8 10 12
AKEE (2)[80...330]>230]110...380[>220[150... . 430[>350[180. .. 660]>420/230. . . 850[=500] 740. .. 2200[>1300] 1900.... 4100 >2800[5700. . 9900>6800

EBYRAR . M-[EREEEIS]-SH[F (5] = 540 M-DRVL-11-SH65



